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Attempt any Five yuestions.
#E W= ¥ FifEW)

). {«} How would vou determine the residential staius of

an iodi idual? Explain, 2

{hy 'R’ was born in Dhaka in 1943, He has been staying
in Canzda since 1974, He comes to visit India on
S0 T and retwrns on 223 2008, Dezzrming his

residential staws for the &Y. 2008-09, 3

[F. T. O.
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{2)
(31) U =fam F1 mAEE witkl = a9 fag
YT HiN 7 THARY

(F) R & T 1945 H T H g 1974 § =8
FAE § T® W A1 T 13.10.2007 & 4G H
SR TS 29.3.2008 W awm WA fruRor @6
2008-09 & fau R w1 EEE wiftals &
faumo =wifew)

Mr. X is emploved in ABC Ltd. getting basic pay ¥ 35.000

p.m.. dearness allowance T 7,000 p.m. Employer has paid

medical allowance ¥ 2.000 p.m. w.e.f. 01.07.2007 and has

provided him one accommodation for which rent paid by
emplover is T 8,000 p.m. The employer has provided
furniture also with original cost ¥ 75,000. However, the
employer has recovered ¥ 900 p.m, for providing the

furnished accommodation.

Emplover has paid professional tax of ¥ 25 p.m. on behalf
of the employee and has also allowed him punctuality

allowance of T 1.000 p.m.
Compute his tax lability for the AY. 2008-09. 15

fa. X, ABC %ot fa. H 7 35.000 W% q& 997 @
¢ 7.000 wifaw pa w1 fagza &1 frgisa 3
01.07.2007 ¥ I8 7 2,000 AfEw fafean v few @
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= TF TEA F g & @ ¥ faed fau fEem
T 8,000 TiFE Tt < &) e 3 T 75.000 @
a1 e W fem ¥ fag Free T9 gElem s
® e T 900 WFE TR Tl ¥
firdfiaan A X 1 S W T 25 HES Fieskh FLH R
fen wa X @t 2 1000 e TFrafwem wwr e
fruite T 2008-09 F AU X & F-gfaE F Fuio
HITAC
Mr. X constructed one house in 1980 and it is let out
for 4 months and self occupied for 6 months and vacant
for 2 months. Municipal valuation of the house is ¥ 20.000
p.m. and fair rent T 18.000 p.m. standard rent of the house
is T 19,000 p.m. [t was let out /@ T 11.000 p.m. Municipal
tax levied is T 6.000 out of which ¥ 2.000 was paid by
the tenant and T 2.000 by the assessee and balance

T 2,000 vet to be pad.

Interest on capital borrowed for construction of the house
is ¥ 30,000. Compute his income under the head house

property for the A.Y. 2008-09. 15

st X X 1980 T U AEH w1 A fwan 97 TS
wead 2007-08 § 4 mEN feuw W o, 6 WEN

[P. T. O.
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=g 1 oy wam e T 1| 2 wER s @
T 1 FRTH Jodiad T 20,000 T&H, Ifam farn
2 18,000 TEA, A fRT 2 19,000 HEAT ¥ HHH
T 11,000 T8 W f&U W & mn Aamwifes #2
¥ 6,000 @ T fSEE ¥ 2 2,000 fFURR 7 Ry w
7 2.000 fFruff 3 €3 @ 9w 7 2.000 snft o f5d <M
AR

froim % fau sur o T d W =S T 30000 ¥
F-fAuiRe =" 2008-00 F fau s@Ft gwE @@ 3
WY H TOAT FHAT)

{a) Write a note on additional depreciation, IA%
(h}  Write a note on Income from other Sources. 7%
(3) Afafad 79 @ feoot faf@aw)

(F) "3 Ha 9 am” W oo fafaa

A capital asset was purchased in June, 1978 for T 32.200.
The fair market value on st April, 1981 was ¥ 80,000,
The asset 15 converted into stock-in-trade on 1.3.2006. The
fair market value of the asset on 1.3.2006 was T 4,00,000.
The stock is sold on 1.5.2007 for T 4,95,000. Compute

the profits chargeable to tax. The cost inflation index



{ 53 4574
for relevant vears was - 1981-82 : 100, 2005-06 . 497
2007-08 @ 551. 1

L

7 1978w §emm sfE T 32200 H =€ W)
1 3789, 1981 F FRE W FEE WER R T 80,000
aT1 1.3.2006 F FEE w fTwa wie § Thefdd w5
T 1.3.2006 I & IAEE AT T T 4.00.000
qT| 1.5.2007 & =F W T 493000 °H 99 K@ T
FEE @ @ o S T TR gEeE I
TFR & -1981-82 ;. 100, 2005-06 : 497, 2007-08 : 551 |

tan

Explain the provisions of Clubbing of Income. 1
3@ % fuer == ymyH #1 §Hense)

The following particulars are submitted by Mr. A for the

AY. 2008-09
£
12 share of profit of a finm 80.000
Income from House Property (computed) 1.25.000
Long-term capital gains on transfer of
equity shares sold on 2.12.2007
through a recognised stock exchange 40,000

Leng-term capitzl gains on transfer of house  40.000

[P. T. Q.
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Lottery winning (Net after TDS) 11,056
Life insurance premium paid 25,000
Donations to National Children Fund 20,000

You are required to compute his total taxable income and

hus tax hability. 15

F-fagicor = 200809 & fom 1. A 7 F faom
WW%

3
12 form wd & o § Q 80,000
o[- T ¥ 3% (ufisfad) 1,25,000

2.12.2007 F ORI W Rfe TR
% O W S T " S
F I W AdFeE IS @ 40 000

TFEF & T W e gEha

Hfyeny 40,000
AE F g (F[W W FL H FwI

% T IE) 11,056
T9 A s fiEEm 25,000
T 91 N F TH 20,000

A9 o A &) %A FEF 98 W@ TR A IfEFHT
Eaicid
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ta) Give the meaning of the term “perquisites™. Mention

the types of perguisites. 7

th} When an individua! is assessable in respect of income

of minor child and spouse” 8

() "IN W Hm WY FAEL A F TE
F1 Ieor@ RIS

(@) S g ¥ ¥aTE w8 w e | ®
s & g i w3 % fe SewRE g R
Explain the provisions of Sec. 380G regarding deductions

from Gross Total Income. 13

Wﬁmﬁﬁﬁﬁrﬁﬁmﬁmsoei
T S FTR BN

100



